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sin(x) . sin(x) .
L) / (3 — 2cos(x))? dr. (11) / 1+ 2cos(z) de. (22)
/sin(x) (—(3 cos(x) + 1)3) dz.
(2) cos(x)
(12) ———dx.
/2sin(x)(1—|—2 cos(z))® dz. / (2sin(z) +3)° (23)
) (13) /(2—3 sin(x))(1—sin(x)) cos(z) dx.
/ —9cos(x) V(1 = 2sin(2))? da / sin(w)(2 = 3 cos(x))" da.
(24)
) (14) / 435?25?_ 1 e / (1- sin(x))2 sin(z) cos(z) dz.
/(sin(az) +1)2 cos(z) da.
(15) /cos?’(x) dz. (25)
(5) /sin(:c)(cos(x) +4)3 da.
/ (1- 351n(m))2 sin(x) cos(x) du. ,
(16) /sin (z)dz.
(26)
6
" sin(x) /73 sin(x)(2 cos(z)—1)% d.
/sin(x)\/ 25 — 4 cos(x) d. (17) / m dz.
cos(x) sin(x) "
@) / 3 5sin(z) (18) / sin®(z) cos(z) da. (27) / T cos2(z)
(8) 3 cos(x) (28) __2sin(z) = dz.
/ (1 —sin(z)) (1 + sin(z)) cos(z) dgg) / (3 — 2sin(z))* d / (2cos(z) +3)°
) 13_7% ar. (20) [ cos’(a)da. (29)

/3 cos(z) 27351 4y,

(10) (21)
sin(z)

2 cos(x) . .
/ _m dz. /sm(x) cos(z)\/2 — cos(x) dz. (30) 7\/W da.
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sin(x) B 1
W) /mdx—‘m“

(2)
/25111(33)(14‘”3(93)4'1)5 dr = —é(Q cos(x)+1)°+¢ = 2 <—136 cos®(z) — 16 cos®(x) — 20 cos*(z) — 40 cos’ ()

— 5 cox
3 co

(3) /—2 cos(z) /(1 — 2sin(x))?dz = g(l — 2sin(x))*3 + ¢ = % v/ (1 —2sin(z))® + c.

(4)
sinz)® sin®(z sin®(z
/(sin(z)+1)2 cos(z)dx = (1+ 3 ) +c= %JrsinQ(a:)Jrsin(x)Jrc = 3( )+sin(ar)fcos2(x)+c.
(5)
sin?(z sin?(z sin? (z cos?(z
/(lfi’)sin(z))2 sin(x) cos(z) dx = ) 4( )7281n3(x)+ 2( )Jrc _9 4( )f2sin3(:1:)f ( )Jrc.

(6) / sin(2)+/25 — dcos(z) da = é(zs — dcos(@)¥? 4 c = % (25 —dcos(@))® +c..

(7) / _cosl) g _% In(2 — 5sin(z)) + ¢ = _% In(2 — 5sin(z)) + c.

.. 3 .
sin®(z) _ 3sin(z) 1 |
3 c=— + 5 sin(3x) + c.

(8) / (1 — sin(z)) (1 + sin(z)) cos(x) dz = sin(z) —

3 cos(2) = — — 2sin(x c=— — 2sin(x c
(9) \/ﬁ dz = —34/1 — 2sin(z) + 3y/1 —2sin(z) + c.
(10) 2005(2) 4y = YA = 3sm@))E + ¢ = (1— 3sin(@)?? +c.

/1 3sin(2)

(11) /1—|—Sl2nc(0:?(x) dz = —% In(1 4+ 2 cos(x)).

cos(x) . 1 e 1 .
(12) / (2sin(z) + 3)3 do= 4(2sin(z) + 3)2 te= 4(2sin(z) + 3)2 e



(13) /sin(x)(? —3cos(z))?dr = —é (2 — cosz)® 4+ ¢ = =3 cos®(z) + 6 cos? () — 4 cos(z) + c.

(14) / _Beost) g, Zln(llsin(x) +1) o= %111(48111(3:) Y1) te

4sin(z) +1

(15) /0053(1’) dz = sin(z) — sin3(a:) +c= 3siz(w) + % sin(3z) + c.

cos®(z cos(z
(16) /sing(m) dz = % —cos(z)+c= 1—12 cos(3z) — 5 4( )
(17) /% dz = %ln(2 cos(z) — 3) + c.

sin®(z sin(z
(18) /sins(:c) cos(x)dx = # +c= % +ec.
3 cos(x) B 1 B 1

(19) / B 2sim(@) T 2B 2sm(@)® T 2@sm(@) 3P " ©

sin®(z sin®(z sin(z
(20) /0055(96) dz = 5( ) _2 3 (=) +sin(z) + ¢ = > 8( ) + % sin(3x) + % sin(5z) + c.
(21)
[ sinfe)y/2 = cos{) costa) da = 5 (2 - cost DRI L PR

sin(z cos(z) cos(z) dz = 3 cos(z . ¢ = 1z (2—cos(z cos(z c.
(22)
cos*(z cos?(z

/ sin(z) (_(3 cos(z) + 1)3) do = %(3 cos(z)+1)4 e = 27#()4—90083(@4—9 @) 4 cos(z)+.
(23)

5sin?(z)

/(2—3 sin(z))(1—sin(z)) cos(z) dz = sin®(z)— 5 +2sin(z)+c = sin®(z)+2 sin(x)+ 5 cos’(z)
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+c.

(24)

sin?(z) 2 sin®(z)  sin®(z) sin? (z) 2 sin®(z) B cos?(x)

/(lfsin(x))2 sin(z) cos(z) dz = 1 + +c= 1 3 5 +ec.

3 2



(25)
/sin(x)(cos(x) +4)3dx = f%(cos(x) +4) e = 7% cos*(x) —4 cos® () — 24 cos? () — 64 cos(z) +c.

(26) / —3sin(x)(2cos(x)—1)>dz = g (2t — 1)4+c = 6 cos?(x)—12 cos® () +9 cos?®(x) —3 cos(x) +c.

(27) / sin(z) dz = — arctg(cos(z)) + c.

cos?(z) +1
2sin(x) B 1
(28) / (2cos(x) + 3)° dv = 4(2 cos(z) + 3)4 te

29 3cos(z) e2735in@) g = _2-3sin(@) |
(29) (2)

sin(z) 2 2
30 — dor=—=+/3cos(x)+1+c=—=+/3cos(z) +1+c.
(30) 3cos(z) +1 3 () 3 ()



